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£[t_] := Sin[6 Pi t]

. Plot[£[t], {t, 0, 2}]

1.0+

05

-05}

~-1.0+

S;_;gm@\a%w@ e s =

e \e = ‘
Mﬂ”w\ e W\ean & o= :iﬂﬂ = é = "PV\%,

Stgrdens £14) Belcens = 3 > "@vu&'
P}Eg\' c,(,um ”Q&«t&lﬂg ?\&L\W‘r&im% Oqz"(lm«“{: = thz = /)e




CC/WMM { W"l‘lab{ %M\&VL& Mﬁ;ﬁ{

\I\AQA é\f\ﬁbﬁ\jé\/\ Qe v \ven ”lO,‘T‘? CDCL(_/\ &O o&ém
Slamp witnge stordvmsy adbine B

>> N=1000;t=[0:1/N:1-1/N]; . .

>> x=8in(10*2*pi*t)+2*cos (15*%2*pi*t)+3*sin(20*2*pi*t);
>> x=x+6*(rand(1,N)-1);

>> plot {t,x)
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>> X=fft (x)/N;

>> plot ((0:499),abs(X(1:500)))
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>> plot((0:49) ,abs (X(1:50)))

Sloteedtcen B ath g_;_\\%mw‘ tvve W Loy s —
Mw«&g ol e P@\\\@ el Leley we d Preliverngey i,
10, 15 ok 0,

e T Gt é%mhw% Tovas”  drords
kave < Loprrprn- o 33?&%@\ \Lﬂ) EVaI | Wk

b@\mw\r M(QL\ b d Q{b@kww) ’cé?“f ath, L3
can PRI Hpeon L td au Yrechvowt juwe WG,

AL

l \AL(% NI («WQ 2y e D \M?& & (W@ r«g bt o

By vm d Ao ﬁﬁm%@w& f \EQWM (OJ’ mg}"%
SN A




>> N=1000;t={0:1/N:1-1/N];

>> x=8in (10*2#*pi*t)+2*cos (15*2*pi*t)+3*sin(20*2*pi*t);

>> plot (t,x)
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>> X=fft (x) /N;
>> plot ((0:499) ,abs(X(1:500)))
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>> plot((0:49),abs (X(1:50)))
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>> N=1000;t=[0:1/N:1-1/N];
>> X=8in(10*2*pi*t)+2*cog (20*2*pi*t)+3*8in(900*2*pi*t) ;
>> plot (t,x)
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>> X=fft(x)/N;
>> plot((0:499),abs(X(1:500)))
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>> plot ((0:109) ,abs (X(1:110)))
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infdl:= X[t_] :=Sin[l0x2Pit] +2Cos8[20x2Pit] +38in{900x 2 Pi t]
Inf3k= Clear[x]

Inf1oj= Y[t 1 :=8Sin[l0x2Pit] +2Cos8[20x2Pit] -38in[100x 2 Pi t]

I

nft1r= Plot[{x[t], y[t]l}, {t, 0, 0.01}]
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